Efficiency vs P,

+0.05p T T
= E : : :
D.045F - e AR
> E : : :
0 0.04F +ererireeen B RPN
o E : : :
D035 --xeeee i Fassneseeees e sneenee
o : : : :
0.08F+eeeeefireeereees S e

i

7 A oo SRR
0.015F : : §
0.01FF oo RN s

0.005

Ratio

= 0.1 . T T . ;
o F : : :
A S A
I E : : : : :
TR S

oF—t ] 0] ] i

VS

0.95

1:- T+
ig +

107 1

10

. Gedf’

fake+duplicates vs p_ |

-

€ vs p

Take+auplicates ra

Ratio

0.8

0.6

0.4

T

—#— DQM_mkFit_XiMinusNOPU_newDefault5
—— DQM_mkFit_XiMinusNOPUold-lowpt

3]
£0.07
[}

Ratio

0.05

1 R RER SRR SRS S
0.05E -+ vb oo b % .......

O

gL

0'025'5,1"{'#4"";'#‘";;;; """ F +--;'#¢'+'"
it

0.01F

Efficiency vs ¢

[
2.045
2
$0.04
(5]
$.035
(9]

YR R R S —

0.025

0.02ffpp1- g g
0.015F - T 4 LTI Ty i g2 -4
001 #*ﬁ -----

0.005

Ratio

Nl

LT

Ly L
P T .
+
: ] ; ; 1
: +1 1143 ; = :
b b HE - HHE-HEH A
O - T P T+ -+ - T .
; ] 4 ; ;
O P . . T+ .
e -1 A - .- - - f - M
i +
+
. 4
[e]alt

0.95

0.

-3

n

te vs

take+duplicates raf

Ratio
.

[ fake+duplicates vs o]

S

te vs

take+duplicates ra

Ratio

0.8¢
0.7E

0.6f:

0.4F

0.5F




	Contents
	Page 1


